9.2 Warm-Up

COORDINATE GECMETRY Graph each figure and its image under the given reflection.

1. Quadrilateral 4BCTy with vertices 2. AFGH with vertices {3, -1, G0, 4}
A{=3_ 3}, B(1.4). CV4.0}), and and (3, —1Dintheline y=x

D{(-3, —3}inthe liney=x
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3. Rectangle QRSTwith vertices O3, 2). © & Trapezoid ALK with vertices H(-2, 3},
R(—1.4}, 5(2, 1), and I{0, -1} K2.5), =4, -1}, and K{A.3)
in the x-axis in the - His
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9.2 Translations
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¢ Words To transiate a point along vector {a, b), v
' add z to the x-coordinate and Do the P—Z+7, 3+ eris, 7}
y-coordinate. Pl

Pl—2,3) L~
: Symbols i —-x+ay+ 5 e

: Example The image of P(—2, 3) transiated along o)
i vecior (7, 4) is (5, 7).




Graph each figure and its image along the given vector

a. ALFG with vettmes E(—7, —1), F(—4, ~4)}, and G(—3, —1)}; (2, 5)

E(-7-1) E(-7+3,5) E(5 ) Sy
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b. square JKEM with vertices }'{3, 4}, K(5, 2), L(7, 4}, and M5, 6); {(—3, —4)
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2A. NABC with vertices A(2, 8), B(1, 1}, and C(7, 5); {—A—.g:, —1)
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2B. quadrilateral ORST with vertices Q{~8, —2}, R{(—9, —5}, 5{(—4, —7),
and T(—4, —2); {F, 1} U
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